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(Read the Instructions carefully before Answering)
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‘S‘“-':F]'aralr: G|_Jtir:a| Mark Reader (OMR) Answer Sheet with Carbon Copy is supplied to the candidate along
o 1*-{-‘)“&5“{}" Paper Booklet. Please read and follow the instructions on the OMR Answer Sheet for
Marking the responses and the required data.

dgRhok PTSEo enEBES' Ftn ©HES 56, 638 (LIows) aares SPo HHdoin Sfus JGo
(S5)S 55) & wososwsiS0s. OFgho aTwo ad) Snod Ldows zarwd HFop DI
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2. Candidates should write the Hall Ticket Number only in the space provided on this page and the
OMR Answer Sheet. Do not write the Hall Ticket Number anywhere else.

& BES@o S0 508ckn LIows 2Trw JiFgoD SrdodS HdTes’ SrEdh e S HEEE
Q00 (@ CDRIBL. FSLIBE Joaabi NF S |TehErE .

Changing of answer is NOT Allowed.
20 J8 J0DMOS R Srdndis edddodadd.

»  The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle of 1, 2, 3 or 4 in the OMR Answer Sheet with Blue/Black Ball Point Pen, as it is
not possible to change or erase once darkened. |

2.£38 L.Josd aTd@oD Yroodd zarand I8Hdo S0dEh, sul) vagiion Hgom $& N
270 doo 8o Sl rdTronod INS' 1, 2,3, 4 S)Enod’ a8 S)@md) )50 FroodSB.

%  Use of Eraser or White Fluid on the OMR Answer Sheet is not permissible as the OMR Answer
Sheet is machine gradable and it may lead to wrong evaluation.

BoTeergosea0 chogo errdorr Sosod Sod Ldoud 2o H@on 38 Jronsd ), gendd MR
T b 958 S, |

4. Immediately on opening the Question Paper Booklet by tea_r_ing off the paper seal please check
for (i) The same booklet code (A/B/C/D) on cach page, (1i) Serial Number of the questions
(1-100), (iii) The number of pages and (iv) Correct Printing. In case uf‘ any defect:.p!ease report to
the invigilator and ask for replacement of booklet with same code within five minutes from the
commencement of the test.

LESE BTREe 28BS HSH 2EEDS Sobd ek Swwgem (i) 0% eroncds wEIE §6
D15 16 B8 oD ax)d B8 S0800HEITR. (i) 15006 100 385 BHeoo s ERod' aR)d
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5 EI:ctrmliC gadgets like Cell Phone, Pager, Calculator, Electronic watches and Mathematical/Log Tables

~ arenot permitted into the examination hall.
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One mark will be awarded for every correct answer. There arc no negative marks.
NON (B8 2arwob ol S0y, Séromoddo adihdod. Jdko erd)s Sy oo Eﬁfgl- )
Answers to the questions must be entered only on OMR Answer Sheet by completely shading the appro priate

circle with Ball Point Pen (Blue or Black) only.
Qoo F& Swd) wrdSrowatl W Ldows aowed@on BT H08 BYomd) BYED BT

JBoisSBss. - .
The OMR Answer Sheet will be invalidated if the circle is shaded using Pencil or if more than one circle is
shaded against cach question even with a small dot.

L0s6 airen Higod 5Tost 9% Qime DET Br DYSH TET Jarergoserds SorieIoTB.
The OMR Answer Sheet will not be valued if the candidate ¥

050 L0ub 2aren HBOR G BKS HEYHD FvS hde aTwod@o Sregosne BoRRER.

(a) Writes the Hall Ticket Number on any part of the OMR Answer Sheet except in the space pf‘ﬂwdﬂd

for the purpose,
L0088 2T HB0D PN BB oSt £E HSEWRS Soubh I HEToS® GG (FTRIBHWD

(b) Writes any irrclevant matter including religious symbols, words, prayers or any comin unication what
so ever in any part of the OMR Answer Sheet, 2 S
20)080 2570 VF0R DEICHS VTHe, Horen, He, @*gém 350 Qe g:;gg;?q’;@é Hirordo
BREDIAEES , -
(c) Adopts any other malpractice.
| SE5063 djﬁ’aba’:g;iﬁa TS .
. Rough work should be done only in the space provided in the Question Paper Booklet.
@R go 20585 DICS BLoronodd (HUdos’ Sm@d Ddy 3 (69 $5),) BHE'EBR.
Once the candidate enters the Examination Hall, he/she shall not be permitted to leave the Hall till the end

of the examination,
wegB 2,570 HOF Trend s D200 dongd 365 HSocdo SnhR 05 pohHrBrHoRndd,

. Ensure that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.

o8 &3 BadEo wEBED 3Lraodd HBFoS® HEFHERD G, Sod¥o GFISBR. @@é £,00080

2arR0d@o D @iyl oo B FoS" &5 SodEo BoSSBI. |
" The candidate should write the Question Paper Booklet number, OMR Answer Sheet number and sign in

| the space provided in the Nominal Rolls.
TSS 66D FBI0DS (BB’ vgd PTPHIE0 20588 Sopg, LIowb 2o Sopg E)030

L;dﬁ:;’aa;ﬁ:. | |
Return the original OMR Answer Sheet to the invigilator before leaving the Examination Hall. Failure to

‘ return the OMR Answer Sheet is liable for criminal action and the result will be kept withheld. The carbon
copy of OMR Answer Sheet and the Question Paper Booklet shall be taken away by the candidate and

should be preserved till the declaration of results.
“hge Fen $300 ahbd IOSHE vHen Laoul aTwdE ) SEFIEHNE WolEHSBR. Ldowd

2SI VoSHMIS wefg8 £83 SEgen 80830 2dWS08 Hddin vdEd HOEOD
DenSdosaded (DS Trg). wiigd 5,Joub zam JPo Jfe Dl & Prp@ined &3 Job

B5of BESEND. Poered Jpdod S8 wFghed Ldoud aTwd@o SEwod Sbakn BTV
268855 S50 58 g HBOEF 5B,
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This booklet consists of 32 Pages including Cover Page and Pages of Rough Work
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fime- 3 Hours Marks : 100
Instructions : -

(i)

(ii)

Each question carries one mark.
D& G’J-ﬂé@ ¥ ;’nvdgar gedd.,

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1,2, 3 or4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
Separately supplied to you. |

BHS NS B8 BH% @S TES* SOGS HrerESoH JEYFI TV Jrdod
w08 1,2,3 8§ 4 3% a0y OMR 350ms Sgsns® @) Sopg JS&M o
D02088 HBELH wr/erl S ool DY) EIAFAD JoDIB.

Which of the following represents an addition polymer?
(1) DBakelite (2) Nylon-6.6
(3) Polyethylenc terephthalate (4) Teflon

808 FBS® B Hogwd FIH6?
(1) BE85 (2) oS -66
(3) >0Ip0S BOTDE (4) BXS

Assertion (A) : Water loss in liquid form from the tip of leaves in grasses is called guttation

Reason (R):  Root pressure is the causative agent to leak more water through stomata
in tall trees

(1) Both(A)and(R)are true, and (R) is correct explanation _f:::r (A)

(2) Both(A) and (R) are true, but (R) is not correct explanation for (A) |

(3) (A)istrue, (R) s false

(4) (A)is false, (R) is true |
: 68 erdio Do § Hod N (BD Erdos* BT Dodorsdo

SENEE (A)
es 0L
s8esn (R) 288 Ssred® JHE dogre 2008 JEYIT A F'SHLB I S0

PerS 57000
(1) (A) 3008030 (R) @0 dods Qz0, 308080 (R) 038 (A) & 598 D88
(2) (A) 508050 (R) Tods dz0, 5 (R) @038 (A) & 5385 D58 51.@
(3) (A) d=0, (R) dz0 5760

(4) (A) dzo 56, (R) Q=z0
3-D
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“Choose correct pairs [rom the {ollowing
(A) Mycorrhiza - Fungus and rool system
(B)  Active transport - f’{l'l"cxpmlditurcillvD]Wd
(C) Hydrolascs - Transfer of hydrogen
(D) Citric acid - Photosynthesis

B0l &b od TS wdeH 50y E" 0500
(A) 3B Sxrero 20050 Sobasn B D55

(B} DSBS e - ATP D) B0

C) T @BFes . - WG o

(D) ®¢38 €300 - Bdeaiyg doddrd 1503

(1) CD - (2) AB

(;l A,C (4) B,C

The cell organelle involved in protein synthesis

(1) Lysosomes (2) Plasmamembrane
(3) Mitochondria (4) Ribosomes

(@3 Sodded’ S'Gd Seromen

(1) B0 (2) Eeadiriio

(3) Dots*sroGosr (4) B FSren

The process by which fruits are formed from ovary without fertilisation

(2) Apomixis

(1) Polyembryony
(4) . Vivipary

(3) Parthenocarpy
4088 2t somdoio ok Do0 B BHEH

(1)  odvhods (2) wbodrK uddo

(3) Ao L (4) 3redES

4-D
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Match the [‘nl]ﬂwing -
List-1 List-1I
(A) Biome (I) Lake
(B) Community (II) Earth
©) Ecosystem (I1) Niche
(D) Biosphere . (IV) Rain forests

(V) Different populations
808 D wdBEsS0

) g5 - 1) soay

(B) Soorahsen (1) e

(C) w58 SgY (III) HB8éf esaHsdoo
(D) 2360 (IV) Sovdeargen

- (V) edf Ssro adregren
The correct answer is :
$BGS H8rGeS500

(" A-1IV,B-V,C-I,D-1I (2) A-BE R C-IL,D-V
(3) A-V,B-IL,C-TLD-I " (4) A-LB-II,C-V,D-II

'chufznce of blood flow in human kidney
(I) Renalartery - Afferent arteriole - Efferent arteriole - Glomerulus - Renal vein

(2) Renal artery = Afferent arteriole = Glomerulus —> Efferent arteriole - Renal vein
(3) Renal artery = Afferent arteriole = Glomerulus - Renal vein - Efferent arteriole
(4) Renal vein - Efferent arteriole = Afferent arteriole = Glomerulus - Renal artery

3588 Sorghodo oo G850 (PS50 Bond Srord) MdoKod

(1) S 50 = edarir FHIE - wdair §HdE = SEEFTIs hifjo - 5K),00
(2) &) G = wde $50E = 8§95 fi:zﬁ&::: - BT S0JE - S3RE
(3) )%, G0 > LPTI GHE > CEEITIT B0 > HHBE > ehTLe G500
(4) 3y§6 - SHTE GRS > SOTI $5VE - GRITVS Dfo Sy, G

Identify the incorrect match:

(1) Amniocentesis -  Genetic disorders

(2) LUD - Contraception

(3) Vasectomy - . Female contraception
(4) Surrogacy - Carries embryo of others

DB 2 HODRUIG HoBowod
(1) &8s 888 - adoges aren

(2) LUD. - K8y dE'S0
(3) IdEo - & & gy A5G0
() 265D - 36780 Do) D3 Voo

5-D



10.

11.

12.

www.eenadupratibha.net

GS'l | Bﬁﬂl{lﬂt Code '

Match the following

List-T List-1I
(A) Phototaxis (I) Bird migration
(B) Photokinesis () Euglena
(C) Photoperiodism (I Bending of plant
(D) Phototropism (IV) Daphnia

(V) Larvaof Pinnotheres
308 T8 asdEKod |

e - | | e - [I
(A) 5708 sdbedo | () SHeodt SOl
(B) 508 wortoso ) owia
(C) 508 seorsn () 308, Softso
(D) 508 eo56S0 V) &30l

(V) D5BES 0%
The correct answer is
DOTN DA eSS

(1) A-ILB-II, C-IV,D-V (2) A-ILB-V,C-II,D-I

(3) A-II,B-V,C-[,D-III | (4> A-II,B-1V, C-V, D-lI1

Midnight blood samples are taken to confirm this infection

(1) Malaria (2) Gonorrhoea (3) Diarrhoea (4) Filaria
& g0 TG OE SSrard 9fo@ P WEBRS

(1) So88csr (2) K3B0Sw By 8o (4) pBocsr

Number of ribs in man

(1) 7 pairs - (2) 9paus . (3) l.Upairs | (4) 12 pairs

SrdPHRest Ddnte Somg o
(1) 7 uden (2) 9 uden (3) 10 agw 12 a2e8exs

‘Blue shift’ observed in the spectrum of light emitted by a star represents that
(1) The staris moving away from the earth
(2) The star is at rest
(3) The star is moving towards the earth |
(4) The temperature of the star is decreasing |
28 S0 00d Ie05T 5708 $FHE0S” ‘99 darddo’ BAV BHrdR0H
(1) & Sood o Sggo drdorr P80

S50 Qordy RET” o0
(3) e SEGo b P Té_fén
(4) o SFGo By, s Sifdo
6-D
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A p-type semiconductor isl formed by doping an intrinsic semiconductor with

(1) V group clements (2) IV group elements

(3)  Donor impurities (4) Acceptor impurities

w8 Segrde: og arirfois O Srbyemo VRSP p-sio wf o abytdod
(1) Vigry ssroses (2) IV Erd Swroso

D wé rdargen (4) (rd Srdagen

The appearance of colours on oil films on the roads in rainy season is due to the pht‘.:nﬂl:ﬂlﬂﬂﬂﬂ of
(1) Polarisation  (2) Interference  (3) Scattering (4) Dispersion
STH00* §idy D $r3 PEen SohHes® $abokhnk BB EYigAcR0

(LY gySeo (2) 358860  (3) »08H@O (4) DEHeo

A cutrent carrying conductor produces

(1) Magnetic field only (2) Electric field f:rnly g
(3) Both electric and magnetic fields (4) Neither electric field nor magnetic i€

DBgS HITRN) a8 Tirso 8 ERENIA

(1) ©ohimos §@o srEH

(2) Dy EPo I

(3) Dogs 000N 0%, 08 FZ w0 BOGT
(4) DBogs B0 5°, @05, 08 BP0 5.

’ ing i » of LASER light?
Which of the following is not the property o R light? o
(1) Coherence (2) . Chromaticity (3) Highntensity (4) Directionality

8od >9S5t 28 D26 5708 G860 57537
% 815 (4) ow8)8s
@, Soegd 2) 58o0d (3) & )

' ing is i tched? |
Which of the following is incorrectly ma
(1) Carborundum - SiC (2) Cf?mndum-hlzoa
(3) Silica- Si (4) Diamond-C,

ob T8t B o, 2éBoHEDE?

(1) s&hdodo -8iC §'6odo -Al,O,
(3) 2&s - S (4) Bk -C|

7-D
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[dentify the molecules with same bond angles from the following
Bod T7IS° o8 oG8 D0 Ho wemrFod KBood
XcF, (1), NH; (D, CO, 1D, C,H, (IV)

(1) I&Il 2) &I 3) LII&IV (4) &IV

Tomato contains an acid (P) and apple contains an acid (Q). Pand Q are respectively
(1) Oxalic acid, Malic acid (2) Malic acid, Oxalic acid
(3) Ascorbic acid, Oxalic acid (4) Oxalic acid, Ascorbic acid

LS o) w0 (P), sbES* &d) s (Q), wond P, Qe 33
(D) wrdf sio, 500§ o (2) Sr0§ wio, STOE w0
(3) w8 o, BT wio (4) odf wio, sa8)F o

Identify the correct statements from the following

[)  Sulphide ores are purified by froth-floatation process
[I) Smeltingis generally done in Blast furnace

[M) Zonc refining method is for refining iron

IV) Aluminium is extracted from pyrolusite

od RS J0GN PadTrol HBowehw

D 353 @8oh ago 8Ya TaYu DG REvLe8

) &ordoom BEoT) TREFOXNS 28Ps°W

M) Socdo F65 HZET° adodnd D D6

V) sorgdoohods PEwogpe Sood Soierad

(1) I&II (2) &I (3) &IV 4 L&V

«Children Film Socicty of India” present chairperson is
(2) RajBabbar

(1) AmolGuptha
(4) AmbikaSoni

(3) MukeshKhanna
“80% OO Fod AP HHodd” HRg F6 D

(1) 03rd 0N (2) o& wmd

(3) ;5.;3@5 DI (4) e508)5° el

§-D
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The President of the International Olympic Committee

(1)  Wander cardiro Di Lima -(2) Thomas Bach
(3) Michel Felps (4)  Auntonilrvin
BOSTEOL 2.O0BE €A SIJN S

(1) 5066 & 556 & dsor D 58 o§
(3) 8S “q:uefi'm (4) wois'd Q8¢S

I‘ndia and China on 15t May 2015 signed 24 agreements. Choose the correct statements
from the following

(a) Itisakey drive of Indian foreign policy with China

(b) Itissigned by Rajnath Sing and Likeqiang

(¢) Ahotline between the two army head quarters would be established
(d) Thetwo sides would engage in peaceful use of nuclear energy

rE8d %0, Baren 20153 158 24 edyorre D dod8o Baon. & 1§od a8 Sood B
TEGA0L0 JoDE DoSwbn

(a) B wrdd BTor IFrSoS® ad S8 vk

() @ D oETE Bk, Pegjosnofies Koo e

(c) Bok BTo eb) & YL SEg aE FEBS Aomytn BA.

(d) Dods Hgrew weoiiad T8N @";--:ﬁ:naame.:éo 8004700

(1) a,b&c (2) b,c,&d (3) a,c&d @/ﬂrhjg&d

The new anti-biotic that invented to treat tuberculosis is

(1) Streptomycin (2) Teixobactin
(3) Rifampicin (4) Ciprofloxacin

§o% FgBI 0S8 SHA'Y) Sr8S odro3noi3s
(2) éﬂgﬁgwgﬁ

(4) ?JL?"'S{:QJS

(1) REPHS
(3) BF0DDS

9-D
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25. The following scicntists got Nobel prize in chemistry 1 the year 20 K on

DNA repair
(1) Eric Betzig, Stephan.W.Hell, William.E. Moerner

(.?.) William.C. Cﬂmpbﬁll, Satoshi omura, Yuu}rﬂut{}
(3) ‘Thomas Lindahl, Paul Modrich, Aziz sancar
(4) Takaaki Kajita, Arthur .B. Mec Donald, Eric Batzig

DNA 8h6 @c}ignﬁ:éo DR 2015 &° Garass 2 rRoet B BE FodS PRI
(1) 6§ E..éS'eEH B c:’saqav S, D008 o 3::::5915
(2) Ddcho sﬁuaﬁﬁ, D& 2350007, alanciands®
ﬁ,@&ﬁ Domd, >SA0ES, wed 556
(4) &s§ s, @gﬁ 8. DSFTS, 285 BESER

26. New Prime Minister of “Nepal” is
(1) K.P.Ol (2) PK.Dhahal

(3) K.R.Regmi | (4) B.BattaRai
IFS Fd B Soo@ '

(1) 32 &9 Q) 53 oS

(3) 3.wb. 04 (4) &. Ferood

27. 'Thewoman Athlet to receive the first Gold Medal in Rio-olympics 0of 2016 is
(1) Virginia Thrasher - USA (2) E-Si-Ling-China
(3) Katinka Hosaju - Hungary (4) Ishi-wen-China .
2016 0B 2.002§)S* O worrth S8¥o FHoNS |§&Ts0B
_‘@;-ﬂ SYAcir &35 - eRos® (2) =2-»-90f - Ba
(3) 88os® Fher - HoNd (4) 223 - B

28. The Indian media frequently used the following word to describe the paramilitary forces

actions against naxalites
( 1 ) Salwa Judum (2:] Green Hunt

(3) Green Search (4) Civil war
$5BPQ% SgBOSoT Fordod Geren BHES S BodmdS grdach &S

ST SHAPAY B0

(1) Hereeroo BS "Frols
{3) @5_‘6:5:] ' ) 56 6

10-D
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29.  Arrange the followin g states in descending order in sharing the volume of Cauvery river water
a) Kamataka b) Tamilnady
¢c) Kerala | d) Pondichery
530 56 2ere BosE 0S5 Edo06" & $ob TT ok witire EHos” wdadyde
a) ol b) SudTds
C) B¢ d) Zro&uye
(1) b,a,d&c (2) acbé&d
(@3- a.b,c&d (4) b,ac&d

30.  Seclect the correct statements from the following
a) NSGisagroup of 48 countries
b) Indiaisamemberof NSG
c)  The present chairman of the NSG is Mr.Song Youngwan
d) Itcontributes to the non-proliferation of nuclcar weapons

& 1§08 aBwdd TBST J2S e Hodam
(a) @ oGS BES0 wypdo (NSG) & 48 Eggdres Sano”
(b) erd3B¥0 v QOGS SEJT 2y0S0S 32560
(c) NSG B33 wdgds oh ooh e
() =0 soyd Tgh AEEES FE% B TR0
(1) a,b&c (2) b.c&d
@ a,c&d (4) a.b&d

31. Through the vedio conference from different places, the following leaders dedicated the
Kudamkulam Atomic Power Plant to the nation

(1) Modi, Jayalalitha, Putin (2) Modi, Jayalalitha, Obama
(3) Pranab Mukarjee, Modi, Jayalalitha (4 Modi, Rosaiah, Jayalalitha

DG oo D08 AR H0S TIT Srdosodo wenddagd SoiTd) 28 woldo

DN Troosoen
[@/m&, 2050098, HBS ' (2) 3@, 2oHodd, Lersr
(3) Ped Sopd, 3rd, 2oledd (4) I8, §'#csg, uoedd
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32 I:*irql Giime woman combat pilots were inducted in the Indian Air force. They are
(1)  Sarala Thakral, Mohana Sing and Supriya Sahu
(2) Mohana Sing, Bhavan Kanth and Avani Chalumldi
(3) Bhavankanth, C.B. Muttamma and Arathi Sahu
(4) Avani Chaturvedi, Mohana Sing and Sarala Thakral
O arodn WHST Boody F0¢ed O KowrdS Sodrer wedd @5%#&3 i
() 36 SES, IS Bof 50080 HIBoSH T
Arirar 0o, TS 5208 L9805 ©59 STl
ersSar soe, C.B. D0E0) S0k WE FHv
w5 PETGY, IS Vol Hdokn Bév SES

33. APJ. Abdul Kalam Amrut Yojana refers to
(1) A scheme to develop smart cities

(2) Supplying computers for all
(3} Providing cooked meal to pregnant and lactating women once in a day in tribal areas

(4). Supplying milk for rural and urban areas
APJ wandS erdd esiinyd Boras He¥o ﬁg%gn
(1) E d8e 5B S50

(2) ©0ci08 Sosrgtoth wohothd
93/ 5’280 .80 Ab2S (FTroeres™ H0ye8 RO¥ D805 FOEY Senets SodS WBITR)

ooy adgo
(4) (et 5080k D& (o Fuo oo wolow HELo

International Fleet Review (IFR) 2016 1s hosted by Indian Navy and conducted in

Visakhapatnam. Regarding IFR choose the right statements.
a)  Themain objective is to exhibit our naval strength to the wuﬂd

b) A total of 95 Warships from 51 navies participated in [FR 2016

¢) 71 war ships from Indian Navy participated in the review :

d) INS VIRAT and INS Vikramaditya were participated in the closing exercise
ﬁméugé‘doti: oﬁ::ag TEo H0E (IFR) 2016 & e8¢ &7 5™ $¥0 I H830005° ATEroRol,
w08 S0w080DS BISTrest £33 38 JFod

(a) & I B 8o 53 I GF B0 BPoTIS BSvjosito

(b) &IS° 51 Bro TIs Forot BodS 95 g TEwo G TR

(c) 6IS° OIS Serag Boas 71 o$08 oo SN
(d) &0hoR) ITETOS' rUE T $ed8 3055 NS D065 INS D6 8500 S0

(1) abé&e (2) be&d 3) ac&d @_a,b,c&d
| 12-D
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35. | Burhan Wanj belongs to the lollowing terrorist group

1 dsKar-e-Tm .

EB) Laskar-e-Taiba (2) Hl:-',bulMujahEddin

) Al-Qaeda (4) Islamic State

T S & 18od ST S8 Bodda

(1) ©%,6-3-&cooer (2) TEend SowrdS

B) «Sgo (4) adynE HeS

36. Identify the port which plays a significant role in China-Pakistan Economic Corridor

(1) Kandla (2) Gwadar. (3) Chabahar (4) Hambanthota
DT FEJR w88 déar (Economic Corridor) &° @Hord g Padyd) 09 d§e0
(1) Sp(el " (2) ool (3) oraStb (4) FToald'ier

37. The host city for G20 summit - 2016

(1) Shanghai (2) Hangzhou  (3) Nanjing (4) Beijing
G20 - o Bpoy HSrddo 20165 w8850 aS ﬁé;usé_n::
@y oy (2) HHohss’ (3) -&ozof (4) DHzof

38. ‘BREXIT is the withdrawal of the United Kingdom from the European Union. Regarding
this choose the correct statements from the following

(a) Thereferendum was held in June 2016

(b) At the time of BREXIT referendum the Prime Minister of Britain is David Cameron
' (¢) Theresa May is the new Prime Minister of Britain

(d) Boris Johnson campaigned for BREXIT «

BREXIT o3 cHr8205he cfordohe S0k B8 IGNE0 Trl8 Ho20500 HOGES

TPEgRN e Qo0 Woknswn.

(a) < Bpoodo @~ 2016 & JQogerovadod
(b) (BEE B 0H00E JLGIONI 28005008° DLN DTS Do@ A& TRES
(€) DS 5 HErs So@ For &

(d) BEE% wSosroom Hardo WHITE 500 FRHS
(1) abé&ec 2) b,c,&d (3) ac&d @D ab,c&d

¥
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Yojana”
L Jaﬂ Dhﬂn

Choosc the correct statements about the upmdhanmnﬂnlhu
a} Itwas launched th

(a) vas launched on 28" Aug 2014 toallthe citizens of Ing;

cal
(b) Itisaimed to provide bank accounts, insurance and debl t

(¢c) Ministry of finance is the incharge of the scheme
(d) It grants loans to the businessmen |
ssm ddigdion

B8 508 2585 Rras"l sonodod $7S FEGENOR D9k

(a) =8 28 Ky 2014 &* Eodosndod

(b) =28 erdd FHoodkdE 27500 e, a;&:ﬁ&ﬁg
LT EATAYSTA

(c) 88 Soo®8g 7p QOIS éﬂ*ﬁﬁgé Serdooh

$sp050 BDE SO RATAR

(d) =& orgardobh amegren SHowrdd Bidgod

iy Q bosl

(3) a,c&d | @) ab,c&d

Sukanya Samriddhi Account is a scheme having which of the following
(a) To promote the welfare of the girl child

(b) A minimum depositis Rs. 10,000 -
(c) A savings account can be opened by the parent or legal guardian of a girl child 1&55

than 10 years
(d) The intrest thatis provided on the deposited amount is tax free

&Jé’.ﬁ*g J5B gre H5EoS & 808 woddwodt JI € T00

(2) =0 rdfo HOgHBNIL &@30ndod

(b) BS* Eddo 10,000 Adarzds Bosed

(c)
HodgEacdy TR BEDDW)

(d) ¢ Garzéd @ s’n,ﬁ; S48 Hdy) D00 &otnod

(1) abé&e @) bc,&d

(3) ac&d - @ a,b,c&d

14-D
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Match the
welfare plans of the stat '
1 ¢ ate government with their objectives
(A) N.TR.Bharosa "

(1) . Toenhance production in the state

(B) Mee intik; - :
(©) .‘-'mn-[u ﬂfl ME_E Bhumi (II) Torectify the land registration problems
D : S.EHJCEVE&DI (II) Pension scheme
(D) MadeinA P L . "
- (IV) To distribute generic medicines .
TR WEbEs B3k Igsru ogrgod’ 2836K0d
A ¢
(A) NTR g% ) ogos’ sdyden Dosdo
(B) X 2038 - & 2o ) grsoe baRaS dodgeo Sohokdo
(C) o sozs (M) 03S & 50
(D) MadcinAP. (V) 2588 So0tHe Do

The correct answer is
DOGOS HSrerEHo
(1) A-ILB-ILC-LD-IV (32)> A-UILB-I,C-TV,D-1
(3) A-IV,B-L,C-1,D-III (4) A-ILB-IV,C-IIL,D-II

National mesosphere/ Stratosphere/Troposphere Radar facility is located at

(1) Rajendra Nagar - Hyderabad (2) Gadanki-Tirupathi

(3) Bhimili - Visakhapatnam . (4) Amaravathi- Vijayawada

2IE3 050 ﬁaeﬂﬁﬁanhoﬁagf@éﬁ:aoﬁ:ﬁf@ﬁ%oﬁaﬁ omE OB & §od HYwoS” &b
(1) oBod3is - Eoerd @T'Pcéﬂé - BEBS

(3) HNO - DTHLO (4) oHTH8 - dudhard

Worlds longest train tunnel route is in

(1) Switzerland (2) Spam
(3) Japan (4) China
HHowsos” ©8 &S Beo ool Srgso0 Ho B0

(1) i‘asé)g,g;gﬁ—- (2) o2
(3) as B

15-D
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44. Match the following
(a)  Dr Arvind Subramanyan

a welfarc corporation

: -ahumall

(b) Justice. Manjunadha (i) Reforms in i

(¢} LV.R.KrishnaRao (iii) Tﬂxmms.und?ri[{ I
(d) Justice. Rajendra Mal Lodha (iv) Reservation for k.ap

2d08d06 t -

(2) o ©6D0E BEdEsS (i) @i 0859 5°6"\0 3

(b) 2R, Sowrads (i) BCCI &* 30,602

(c) LVR.Syrows (@) GST5066° 803

(d) =8, ool Sordf o (iv) 5% 0z0¢AS

The correct answer is '

SISIOS VIR LA |

(1) a- (i), b~ (ii), ¢ - (iii), d - (iv) (2) a-(iv), b- (i), ¢ - (ii), d - ()
B a- (i), b- (iv), ¢ - (i), d - (ii) @) a-(i),b- (iv), c- (iii), d - (ii)

45. The tiger reserve received “The bindivérsity award 2016 1s

(1) Sunderbans  (2) Annamalai (3) Bandipur (4) Pakke
"Brased - 2016”7 war§ okl Hese Sodss Bogo
(1) 08628  (2) @B (3) woddrs (4) &%,
: R® ' A
-46. Match the following
(Harappan site) (Discovered by) -
A) Harappa [) R.D.Benerjee -
B) Mohenjodaro | : I) M.G Majundar
C) Chanhudaro | II) S.R.Rao
D) Lothal 1V) Dayaram Sahani
1808 T°AQ 2EDHETH0 |
EEm (@rogo - SISSTa oS
A) SGary ' ) 8.4 338
B) 3nirofmd ) oho.e Loeroys
C) ws&od ) ohR.ub. oof
V) dodertro $538

D) &' ﬁ/\/

The correct answer 1§
D000 BSrerdsn

(1Y A-LB-ILC-ILD-IV (2) A-LB-ILC-ILD-Iv
(3) A-IV,B-L,C-1,D-II (4) A-IV,B-ILC-I1p.T

16-D
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EﬂilindE'Pﬂﬂhﬂ’ was written by
Nag _
(3) B:ig::né (2) Nagarjuna
; !a hosha. (4) AswaGhosha
m@ﬂﬁﬁﬁc‘g‘ T250
W bt (2) wmosed:
(3) =g s5%a (4) wify $5'ds
The military department under Vijayanagar is named as
(1) Athavana (2) Kandachara
(3) Dandavinita (4) Mansabdari
DBODINC FFodn T8 RIS T T owor DHendadhdod
- (1) »635e (2) Soorwd
@’"ﬁﬂﬂimﬁ | 4) %856
Match the following:
(A) Mathura Vijayam (I)  Gangamba
(B) AitareyaDipika (I) Vidyaranva
(C) Jambavati Parinayam (II1) KrishnaDevaRaya
(D) Varadambika Parinayam (IV) Tirumalamba
§od TR =EXEWDV
(A) Zsgho dacho - (I) Korron
(B) =&3c%H BOE (11) Elth“sr:?mﬁ
(C) =rodd H0a0 () 8y BSoad
(D) $6z0Ds 50050 (IV) 8ddwon
The correct answer is
DORS HSrEREN
A-LB-I,C-1LD-1V (2) A-ILB-ULC-IV.D-1
(3) A-ULB-IV,C-ILD-II (4) A-IV,B-1,C-LD-II
Mahendravarman [ was conquered by Pulikesin 1L in the battle at S
(1) Vatapi (2) Kolleru (3) Pullalur (4) Aiho
B0 HDdE Tocl Syirold Soyso mewodS oRugo =ORS Lﬁ‘zém
: 59
(1) = (2) §86 (3) Pgessd @ e

17-D
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Kalidasa

(1) Meghasandesam
(3) Vikramorvasiyam
€ 508 I"S" FITR0 |FeH Koo

The following literary work is not written by (2) Ragh qvamsan
(4) Naganandam

(1) Fodo Bod¥o (2) &d0$0F0

(3) DE3rschatao @) Srdose

Match the followin .
(A) BrahmaSamzﬂg (I) Serviceto mankind
(B) AryaSamaj (I) Monotheism

(C) Theosophical Society () BacktoVedas
(D) Ramakrishna Mission (IV) Universal fraternity
S0d A 2dH5WN0

(A) i) Sdrao fl'” (D) %38 DS

(B) w6y ddrmo Gy (1) Dﬁe’sﬁ‘ﬂvéé

(C) adgerd ddruo (1) Sored $6drod

(D) SRR 313&'15[ |

The correct answer 18

SIGIeS VRS LI mE R

(1) A-ILB-IV,C-I,D-III
A-ILB-ILC-IV.D-1I

(2)
(4)

Name the founder of Amrith Bazar Pathrika

(1) Sisir Kumar Ghosh (2)
(3) Harish Chandra Mukherjee (4)
©ind wwrb HBE FHA 67 Koo

(2)

(D) 335856 35°Q

(3) FEQKols Snpd (4)

Find out the wrong pair in the following
(1) The Rehnumai Mazdayasan Sabha - Parsis

(2) Akali Movement - Tamilians

(3) Aligarh school - Muslims

(4) AryaSamaj-Hindus

§08 TAS SHYT wSDENI6 Ko
(1) Bavdoon Serdirds 3¢ - e
@/’@Pé} & igSosn - Eogden

(3) ©dR6 B & - SuRowd

(4) w8y dSrao - JrodoPen

18-D

(IV) D¥; S35 FETSYBL0

A-LB-ILC-IIL,D-IV
A-NILB-LLC-1,D-IV

Raja Ram Mohan Roy
Surendranath Bencrjec

O°0ren Ir5 507057
Ddo e B
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Raju was killed by the British at

g; Nadimpallj (2) Madderu
Siomt. ' |
. ;}’}'ul (4) Krishna Devi Peta
OO STl Rdn >6d %« Sodemd
(1) S&osg (2) %36
(3)  Sctorgs: (4) 83 82 hea
Gandhi’s book "Sarvodaya’ written in Gujarathi is the translation of
(1) Bglagavadgila (2) LightofAsia
(3) Bible (4) Unto the Last
OB MHuodS* 308 VoG’ 0k DEo HIS wsoT G5
(1) K386 2) BE B eosr
(3) B8HS . (4) oS & o§

Arrange the following events in the correct chronological order

(A) Dandi March

(B) Lahore Congress

(C) Second Round Table Conference

(D) Simon Commission’s Visit |
808 BS@AS BoRLIOKH BB BT STWEDBES® woS

(A) 08 osweS

(B) o6 sto(ie

(C) BogS T'ob Bwd HdrB¥Q"
L e— -
(D) H0S EIrAS J0BEI

@-B-C-A-DIN Y®/p-B-A-C
@C-D-B-ﬁ @ A-C-D-B
Mention the new name of J ustice Party

(1) Revolutionary Party
(3) Radical Democratic Party

2R® >§ B0g), WED Bl

,@ ﬂa’swgﬁzﬁﬁ,i}vg
(3) odES BIEES >0

(2) Congress Socialist Party
(4) DravidaKazhagam

(2) so@d FAdDY P
(4) 828 sxtio
19-D
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59.  Which one of the following statements is not applicable to A P.J. Abdul Kalam?
(1) Jainulabdin and Asiamma are parents of Kalam o ¢ Proor |
(2) Kalam became Chief Executive of Integrated Guided Missile Development Programme.
(3) Kalam was 10" President of India
(4) Kalam developed Tablet PC -
Bod srsged” J.0.8 2GS Seroo BotAE D67
(1) BRoofS 500 shan), Lo S080Ees
(2) Sero 2BBE AaE WHE ES5E5Z0E @irok BFS FEFITETET RS
(3) 2rdsSuaR8 Saro H8S gﬁgw
Soro 7B 0.0, SosrtHrdang

60. Match the following -
List-1I _ - List- I

(A) Copper | | (I) Ramagiri
(B) Iron (I) Digboi
(C) "Gold (Il1) Khetri
(D) Petroleum (IV) Kudremukh
2385850500

e -1 = e - 1
(A) on t\ (I} o©=HAd
(B) 250505 Ky (II)  BferoS
(C) womdo <~ ' (1) B

(D) S dcho (IV) So@s0d
The correct answer is |

HOGDS SSrEHB0
(1) (A)-D),(B)- D, (C)-(IV),(D)-(II)
(2) (A)-(IV),(B)-{II), (C)- (D), (D) - (1)

O A)-ADB)-IV), (O)- @, D))
(4) (A)-I), (B)-(V),(C)- (), (D)- ().

The region between the Tropic of Cancer and Tropic of Capricorn is

(1) Temperate zone (2) Polar zone
(3) Torrid zone (4) Tundrazone

§8).& O, 088 Op gy Ho (@rodo
(1) 3538 So0800
(3) wdgy Sodeo

61.

(2) cﬁaé odeo
(4) Lo Jnote0

20-D
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02. Match the (ollowing:

63.

64.

B3) 509§ 05 2o

| oSt List- 11
B) Chomes iy B
(C) Mumbg EH%) T_;elrme port
(D) Kolkata | ek

| (IV) Artificial port
2 8HE %S0 -
The - | AT LA |
(A) sow ) o8¢ 5633
(B) 33 | (1) 38 esgrod 5409
(C) Sxoeomn () B&S 6589
(D) &&Ee (IV) gy8s% &433

The correet answer is
ﬁﬁ@;.‘é SESIARNINEE

@,ﬂ-nl,ﬂ-mc-l,n-g_’/ (2) A-IV,B-TILC-IL,D-I

(3) A-ILB-I,C-IV,D-II (4) A-I[B-IV,C-1,D-III

From the following, Identify the wrong statements

(a) Census data is collected every 10 years
(b) Sex ratio refers to the number of female in adult population

(c) InlIndia, the first census was taken in the year 1872
(d) Population density is higher in the mountains as people like the climate there

Bod T3e° Sy rgsgoRn HoTiNw

(a) B8 98 JoSET o B Head B> \D

(b) =zaers™® DY THS' wdard) Sopgd dod A 89cHE™08
(c) 288370 INEBIBT 2578 Koo 1872 &° 28R0d -\ |
@ sos @ososd Teitary Bres sFHETH TG UHE wirods MKy

(1) a&e @_EE/ (3) b&e 4) a&d

‘E] Nino’ is caused by the change of teﬂ}emturﬂ in this ocean |
( 1} Il'ldiﬂn ocean (2) Aﬂﬂﬂti{l OCccan .

(3) Pacific occan (4) Arctic ocean

& So%t B5NB0StD sFPSe 8o SOV DEAS” Ayodhod

(1) Srodr S0 ddnE@o (2) ©iroBlf HoIs dsmEo
' (4) ©B) 5 S05¢ Hhwo

21-D
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cives less rainfall.
cive heavy rainfall.
ation of (A)
Janation of (A)

Assertion (A): The central part of the Deccan Plateau 1€C
Reason (R):  The windward sides of mountain ranges Ice
(1) Both (A) and (R) are true and (R) is the correct explan
(2) Both(A)and (R) are true but (R) is not the corrcct €Xp
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

DEFES (A) @ EES 2EHrL B¢y wrfod” S8ard0 é- pog—
s63n (R) @ 56808 $SaDiog oS (windward side) SEFFE0 I,
(1) (A) %005 (R) e Bodkr 2y 8080 (A) 8 (R) 898 D5de

(2) (A) 5805 (R) oo Bodr ey, So0i0 (A) 8 (R) 538 250 sfcsa_
(3) (A) ady 5 (R) 8253 -

(4) (A) 853 50 (R) aisy

CoRY

Among the following, choose the correct pair of river and its tributary.
(1) Ganga-Damodar (2) Indus-Yamuna
(3) Godavari- Tungabhadra (4) Mahanadi - Sabarl

808 TEe®, SB-GISG R, S0GS 20 I8NE RN
(1) HoH - *3r&E ' @' Doy - 030808
(3) Gordd - Soled (4) HoF°38 - w0

Match the following

List -1 | List-1I
(A) ~Shale (i) Quartzite
(B) Limestone (i1) Diamond
(C) Coal (iii) Slate
(D) Sandstone (iv) Marble
2365 53 15300

e - | | e -1 s
A) 2s E’““"B (i) sgg=es
(B) sogporon (W (i) s

(1ii) &

(C) &6 V)

o

(D) = S’.Q"‘OJJ Q\

The correct answeris.

SISIosVINIRS bRV INGY

(1) A-(v), B - (iii), C - (i), D - (i)
(3) A-(iii), B - (iv), € - (1), D - (ii)

-_._-_"F_-—

(iv) aroTromw

(2) A-(ii), B - (iv), C - (ii), D - (i)
(4) A-(iv), B - (iii), C - (i), D - (ii)

22-D
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68. From the following, choose the wron g statement

69.

10.

(1) Korangi in East Godavari district is famous for mangroves
(2) Alpine vegetation is found in Himalayas

(3) Teakis grown in evergreen forests

(4) ‘Protected’ forests could be used by people

808 T8t gy HI) BSBTQ) K800

(1) 88y Farse 2ereg'Q §'60A wdPhen Nd vEHosH BodSD
@ 8)5 spereo rsrocires Toas

(3) Eﬁ&o De8es Fobes @dwgurﬁ‘ P8 0d

(4) 688 wdHods Haen AARBTNOLHE Sy

The information about endangered species of animals is present in

(1) Black list (2) Green list (3) Red list (4) Yellow list
BOoEB0NV D) w0k e SSrTESnd BOcHHEWBNIG
(1) ex§ 83 (2) s o (3) °& 89 (4) A& 0

Assertion (A) :- Agricultural experts estimate that India loses more than 5 billion tonnes

| - of soil through soil erosion every year.
Reason (R):  The Adivasis must be educated to practice ‘Podu’ to control soil erosion.

(1) Both(A)and(R)aretrue and (R) is the correct explanation .uf (A)
(2) Both(A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)Is false but (R) is true

Ha>sS (A): SgSToD AY0O woa Ws*do &
boye §I7) REVIRISURS J08'd oo 5%

o8 wdEQERS8 whThHen ‘P SgIFoho Fo domr LS

58B%0 B8 HosSto 5 DOHE

s80sn (R):
é@gcﬂ”ﬂ@
e ook aéj-ﬁ:ﬁodw (A) 8 (R) 588 Dd58e0

A) So0ac50 (R)
(1) (A) Sodr ey S0 (A) 8 (R) €28 D56m 56

(2) (A) 58050 (R) &0
(3) (A) 23 s*Q (R) #3y
(4) (A) &5y D R) 22y
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Among the following, which pair of railway zones and their I [cadquarters 1S not correct?

(1) South Central - Hyderabad (2) liasten- Kolkata

(3) Last Coast - Bhuvaneswar (4) Southern- - Chennai

808 TES* ST 28 Tobads 3P Hodores $0050 T Berd Bowred

@ &feo gy - WETerd (2) Sr&)y - 58

(3) &»r&) BC - HIIHE (4) &Beo - BI)

According to 2011 census, the highest decadal growth rate of population is in

(1) Uttar pradesh (2) Bihar

(3) Meghalaya (4) West Bengal

2011 237 B0 (95760 STRY wdgdE zaye 58 B ORI

(1) g6 @35 M2y b6

(3) Sidrecs (4) 385 Bord

Santhal tribe people live in these states

(1) AndhraPradesh, Tamil Nadu, Kerala (2) Uttar Pradesh, Rajasthan, Madhya Pradesh '

(3) Jharkhand, West Bengal, Odisha (4) Maharashtra, Karnataka, Gujarat

Jogrs 3K Haed & oped’ QSR

(1) eognds, ddard, s8¢ (2) &88@aT, oads, SEIHIF
& aﬂgmﬁ, DBNBOMS, 2,087 (4) ézﬁm@, SomboE, Hhaocd

This industry manufactures telephones, computers and mobile phones

(1) Automobile (2) Electronic

(3) Information technology (4) Electric

Bod SO BOPS, Sorgéady SN 0B FIod Saird Vod

(1) & 308S }21/ QOIS

(3) HSrard Foiass (4) ogs

The neolithic site that was first noticed in India

(1) Lingsugar (2) Chirand (3) Mehragath (4) Kaddihwa

OB I50S* BodSm HBoTRAS SDS Forcsor FHTEN

(1) ©of o6 (2) Qo0& %m@‘ﬁﬁ (4) 843%
24-D
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76. The growth rate achieved by the Indian economy during the Eleventh Plan is

DNBouS ﬁmﬁﬁfél o Pse 5T00et e Hgé ;“355"% N ATO AP =3 Be0

(1) 5.5% (2) 6.5% (@) _7.5% 4) 7.0%
e
1. Ofthe following, identify the components of “Rainbow Revolution” in India
(@) GreenRevolution (b) Silver Revolution |
(¢) White Revolution (d) Blue Revolution

& 808 TS rESBISNS' “DonS & IPHENG® FriPoonsd D2
(a) &0 DHSB0 (b) Degs JBHB
(€) S JDSB | (d) 28 2HB50

(1) a&b (2) a,b&ec 3) c&d Wd

78. Schedule ‘B’ ofnew classiﬁcé.tiﬂn of Industrial Policy Resolution 1956 of India comprised

(1) 8Industries (2) 10 Industries

(3) 11 Industries - (4) 12 Industries

o8 S PEHS] FOF S DG ST"Y0R0 LE}_S_(_‘]_;.’)"EJ S ‘B’ &' HoEe §'E 588"

HoFw Sog

SGICISY

mate
(2) Poverty
(4) Unemployment

79 The ‘Head Count’ method 18 used to estl

(1) Population

(3) Price ris_e

b8 GHArAT

‘Serey B850
v ’ (2) "e5BER

Sl (4) QG gAL

(3) S0 OGS
25-D
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80. One of the following pairs is not correct in regard to ta
(a) Customs duties and Estate duty trans
(b) Taxes on goods and passengers through Rail, Air and wateT ways
(¢) Toll gate tax and tax on mineral rights
(d) Tax onintoxicants and entertainment 3
Soabes HXYL IJAHING® & Eod S’ KrdS JHT gEEn e
(a) 833 Dosren HHdodn ;}'5?_:365 20083
(b) Qen, &dln, mo Srove oot dovr TR SV @Dﬁ?éﬁﬂé 98)

(c) &'Shdn 58 Sobosn pAz= T8y O D59
208 dorgoD DY) Hbcke ISEDH Dy

port

€ correct answeris
RODLS Ve
(1) c&d (2) b&ec (3) d&a (4) b&d
81. Theonly two areas reserved for public sector under the Industrial policy of the government
are at present -
(1) Aircraft and Coal (2) Coal and Airways
(3) Steel and Petroleum (4) Atomic Energy and Railway Transport
8S (HE0S; PO E IFSSn (PG (Hehdg SorSndK BBES0 Boky Sorbsnwm
S Oy Dobad Gamon B9
(1) sraren $o805d % (2) &K $o80%0 DEFSEFS0
(3) &8y Hboin DE"d%0 (4) w2048 Sobodm EESES Eaeae
82. Name the programme which is being implemented by the Government of India to encourage

innovation and start-ups in India
(1) Self Employment for Youth utilisation
(2) Self Employment and Technical utilisation

(3) Self Employment Assurance scheme

(4) SelfEmployment and Talent utilisation
S8R0 0ok ok HBESIO |PEToRTE G Beodto BHBS Hgo

(1) _E‘Jé;) Jozroldooss H0 chors MQQQQS

(2) Sy JoFcHIols wo& BYHIS SWBBEAS

@ E) JodHB:ots JrgBTY

() &) doFcHIols wof &rBos aoBPEAS
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‘\Jl.f’hmh Banking reforms CDI‘HI‘HIIIEE introduced ¢ narruw banking method” in India
(3) l;ﬂnga Rajan committee (2) Narasimham committee
(3) Damodaran committee (4) Ahluwalia committee

E08 T8S® argeddsnes® 2rrgogoe s’m;’:&ﬁ'maé’a ‘Sofond ergo8of E'th@ﬁ
JrDoDS €Dl

(1) dofioras sanes @) sovotro g0

(3) TIFS6S £25e3 , (4) wivardcsie €208

Gandhiji described the proposals of one of the fDllDWlnﬂ as, “Post dated cheque drawn on
the crashing Bank”

(1) Cripps Mission (2) Cabinet Mission

(3) Wavell Plan _ (4) Linlithgow proposals

) Lﬁé‘ééﬂﬂééﬁ&:_&. “Barer 89Ny wrgosvm HARES BOS" QNS aéobrr'” rohamdd Dao?
(1) @E{J orchoerdo (2) 5“55335 AR

@ B3S (B0 (4) OSO§F HOFBLen

85. The Writ issued to oust an ineligib!e person from ari}? public office is

(1) Quo-warranto (2) Prohibition (3) Certiorarl

86.

(4) Mandamus

o8 Bebdy HED H0d VIEES 5530 Fohodobt whiakud b5

(1) &-a80& (2) @>d3S . (3) BEFES (4) SrodBR
Which one of the Directive Principles that was NOT incorporated by 42" Constitutional
.- .Amendment Act? -

(1) Equaljustice and free legal aid
(2) Participation of workers in management of Industries

(3) Safeguarding of forests and wildlife

(4) thlbttmn of slaughter of cows
god T8O 42 S orargol S30e WO TLT SoBDEERED gaém@{j NE?

(1)
(2)

3)
@ F5GS Yagodao

553 Sgoso H0od GOE TS VTR0
H0|F 0o 3365;":“:96‘ 5785000 TG0
b SHBO%0 SNgEre® HoGEE

27-D



www.eenadupratibha.net

-
Booklet Code

he first Prime Minister o

GS-1

87. Jawaharlal Nehru was administered Oath of Office 23 th

Independent India by | prasad
; rasa
(1) C.Rajagopalachari (2) Babu R?;rnd;:ﬂn
3 S. Radhakris
(3) Lord Mountbatten (4) 5 i 854550 Bowodsa

BeSo rdSUT A BerdSoo@m 235Eurd T
(1) ». ocaffrood (2) ere® mﬁa@@ﬁ“ﬁ
(3) 8y SFodderdom (4) cHR. g»gugg?}:ﬁ

: - "t vt Ve 11
88. The Elected Members of the Legislative Assemblies of which Union Territories have right

to vote in the election of President of India are

(I) Puducherry and Chandigarh (2) Delhiand Puducherry
("lj Delhi and Chandigarh (4) Delhi and Andaman Nicobar

2 S80S oot BodS QNS DS Jehgen Eaadely! D“uld@ ;JEJuléej" E..E.n
S8 5N Hoerda?
(1) HTD Sobcso Sodsob § SoboEn PO
(3) 39 Sobasn FodPs (4) 58 SoBos» woddrs JEWO

89. 'The Vice-President of India will not get a chance to act as the President of India in this

context
(1) When vacancy arises due to the impeachment of the President

(2) When vacancy arises due to the death of the President
(3) When vacancy arises due to the expiry of the term of the President
(4) When vacancy arises due to the resignation of the President

BB adS D HosGoS® SITHIBE, THIBT Ig5TB0B wSTIo Hok?
i Sl

(1) o°gJ8 ;ﬁa:ﬁbo‘:ﬁvﬁ @aﬂgﬁo ooqor Sohods stdomr g bﬁg&;&;ajm
(2) ogH8 H6eod® P AG)EI8YE
@ cr'@;':ne‘ia HEJsTw0 o sTEpom ) Dr:igc?sa’mjc&a

(4) o8 TEFSr 5o 2R AHBIDYE

9[1  Which of the following states have the equal representation in Lok Sabha?

(1) Haryana, Punjab (2) Kerala, Odisha
(3) Assam, Jharkhand (4) Bihar, Tamil Nadu
D (808 Dot Ten SEHES’ B30 @BITGR) KON a0

(1) &ogar, Howrd | @/Edﬁf 283
(3) ®ano, ﬁvgaﬁ (4) HGsso, BT
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91. Thearticlei ich *
article in which “Prohibition of Untouchability™ is incorporated

1) Arti .
E ) Article 14 (2) Article 16 (3) Article 17 (4) Article 19
@oLTIEI0 V0o vl JnoBSt EOAS HESH DAY

1) 1 “ “
(1) 145 @860 (2) 165 H860  (3) 175 BE8e @ 195 $¥8e0

92. The High Courts of Bombay, Calcutta and Madras were established in the year
0B, Soie 005 ey WE R 6)ES doddido I6?

(1) 1866 (@) 1864 w (4) 1869

93. What is the strength of the Legislative Council of Jammu & Kashmir
25;’);5’3;5“%3}5 TS HOAS Dopg Jos?

@ 39 (2) 34 (3) 37 (4) 36
94. Identify the non-constitutional body (bodies) given below?
(A) NITIAayog _ (B) National Development Council
(C) National Integration Council (D) Inter-State Council

Bob T3eS° Trargondd S0P (Sogoso) #8030

(A) 58 s&drh (B) =80% wdS)Y 5069

(C) =Bo% s> 3089 (D) wosb-oo@ S08d

(1) A&C /szi/h&D
(4) A,B,C&D

(3) AB&C

‘Cooperative Federalism® by
(2) Ivorl) ennings
G. Austin

95. The Indian Federalism is described as
(1) Morris Jones
(3) K.C.Wheare (4)
S SErpg BEEd dEragT 580086 IBE?

“(1) 65 =5 (2) 056 B

/(_3_),,35:.\. 36 £, B8R
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96. Ward Committees must be constituted in the
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pupu]ﬂtiﬂn of

[ .  * - [ a
Municipalitics having

(1) 3 lakhs orabove

(2) 2 lakhs orabove

(3) 5 lakhs orabove

(4) 10 lakhsorabove -

DETOE JoIroS* > Lndolo éﬁﬂgﬂaﬁn‘* Aoty B0

rmmg a)Oeh?

<5 &odSORS B

@)/3 ofen S5 wods ood

(2) 2 o¥en So wodo ood
(3) 5 ofen 8o woddH Dod
(4) 10 ofecs B wofd od

Q7. The Central Administrative Tribunal was formed on

98.

(1) 2-10-1983

Told Dored Buogdd A6)AS 867
(2) 2-10-1984

(3) 2-10-1985 (4) 2-10-1986

The objective of setting up of Central Vigilance Commission in Indiais

(1) to check inflation

(2) toprevent corruption

(3) toprevent smuggling acﬁxrities

(4) ' toprevent black money

2 EEBF0e® BoE IRBE) EMAS oY DoNErIS Ko Swpg &digo D2
(1) BIgepe) Qodo@orids

(2) @amm QDo

(3) {hofl sgioraroy HG°GOWIL

(4) RSodard) A6 B
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I—l-l-l—-_.

Assertion (A): The s o g o
: ernment introduced Acceler . :
(AIBP) in 1996.97 ated Irrigation Benefit Scheme

Reason (R):  The Union Government strives to provide additional assistance to the states
for Fhf: speedy completion of selected large irrigation and multi purpose
projects

(1) (A)is correct, (R) is wrong

(2)  (R)is correct and (A) is wrong

(3) Both(A)and (R)are wrong

(4) Both (A) and (R) are correct

BEZES (A): Bod ©BevEgsn 1996-97 & wgwdBE REARS BIDLE &S (AIBP) &
ESTe308

58w (R) 1 Soif Babégsn JobE B0 Bg HB- e, Ve BArad @FRHOD
oo g Fhodk Foks ©6FY SHEIrA) wos0BomE K

B3008 .
(1) (A) 23y, (R) 82 (2) (R) 3y, (A) 823
(3) (A), (R)Bod> sy @A), (R) 8ot 259
Match the following
Schemes Plans
(A) LADP. ()  Sixthplan
(B) MNN.P (I) Third plan
(C) LR.D.P (IN) Ninth plan
(D) PM.GS.Y (IV) Fifthplan
2365 P Thoadd
D8R0 DeT 98
(A) LADP. (D) w65 Heods
® MNP (¥ ) Srds Seds
(C) IRD.P. () &3 @e@s
(D) PM.GSY (IV) 083 @98

The correct answer is

E’:E@é BT R0

(1) A-1LB-ILC-ILD-IV
(3) A-W,B—III,C-uj-I

(2) A-IIM,B-ILC-IV,D-I
(2 A-ILB-IV,C-1,D-1II

et
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